

Santinagar, Palta, P.O.: Bengal Enamel, North 24 Parganas, Pin - 743122 (W.B.)
Phone: (033) 2592 1327, Fax: (033) 2592 1327, e-mail: pndc.principal11@gmail.com
Website: www.pndascollege.in

NAAC ACCREDITED - 2016

Ref.:	Date
- 0,7	—

P.N. DAS COLLEGE CENTRAL LIBRARY EARN WHILE YOU LEARN 6th PHASE WORK

DATE: 08.03.2022 - 11.06.2022

No. of students involved: 11

Activities: Book arrangement, Dusting and Stacking

Details of activities:

SL No.	Name of the students	No. of days	Rate	Allotments
		worked		
1	Srabani Paikar	6	Rs. 50.00	Rs. 300.00
2	Rohit Biswas	6	Rs. 50.00	Rs. 300.00
3	Subha Mridha	3	Rs. 50.00	Rs. 150.00
4	Suvronil Das	1	Rs. 50.00	Rs. 50.00
5	Dipika Sarkar	3	Rs. 50.00	Rs. 150.00
6	Indrani Dey	3	Rs. 50.00	Rs. 150.00
7	Subhrajit Chakraborty	15	Rs. 50.00	Rs. 750.00
8	Arnab Dey	3	Rs. 50.00	Rs. 150.00
9	Praloy Chakraborty	10	Rs. 50.00	Rs. 500.00
10	Amitabha Nath	1	Rs. 50.00	Rs. 50.00
11	Swarnadeep Karmakar	3	Rs. 50.00	Rs. 150.00
	Total			Rs. 2700.00



Santinagar, Palta, P.O.: Bengal Enamel, North 24 Parganas, Pin - 743122 (W.B.)
Phone: (033) 2592 1327, Fax: (033) 2592 1327, e-mail: pndc.principal11@gmail.com
Website: www.pndascollege.in

NAAC ACCREDITED - 2016

Ref.:	Date

Attendance Sheet

	18	Ę	16.	15	14	13	F	=	10.	ė	ò	÷	9	ź,	4	'n	'n	-	SLNº.	
	14,03,2422	14-63.2012	12.03.1022	12.03. 222	12.03.222	11.03.2022	11.03.2012	11.09-2017	10.03.2022	10.03.2022	10.03.2022	10.03.2022	0 03-2012	09-03-2022	09.03.2022	09.63.2612	08.03.2012	08.03.2012	Date	
	Indrani Dey	Sorahani Paika	Dipika Samuan	Rowit Bismas	Stabani Paikan	Subha Mridha	Dipika Saster	Rohat Bismono	Dipika Sankaz	Sweenil Dono	Subha Mridha	Rowit Bistons	Someoni Pairon	Sidius Mindha	Polit Bismas	Syabami Palikar	Rohit Bisians	Snahovi Paikar	Name '	Earn Shile You Learn
5	Dusting and book were angement	Duriting abook apprompement	Dusting & Book appearagement	Dusting a Bree operangement Roll Bishows	Durching a Bon Arrangement	Dusting & been aveangement	Dusting & book arrangement	Dusting & Book astrongenunt	Dusting & Book asszavagement	Dusting 4 Book allangement	Duefing a Brok arrangement	Dusting a Brok mozangement	Dusting a Book Aroungund	Dwafing a Book Arrangement	Dusting & Bell Arrangement	Dusting & Brok As rangement	Dusting & Book allange most	Dusting & Best Arrangement	Ancing Work	esk.
	gulfal ocg	Orabani Pairon	Wilke some	Robert Biguras	Erabani Paikar	Lope Mich	DARKA Sarriar	(Mohit Bissons	idlikika Somo	Suntanil Gas	Subhi Midhe	Ratis Bissons		fill Broke	Robin Bismos	Obrabani Fairear	Restat Binuas	Obcabani Paikan	Signatura	
	BA (G)	84 (6)	BA GO	BA(e)	34(G)	6+8 Sem	BA(61) 6th Sum	BA(S)	6 th Sem	B.A. (H)	B. Sc (G)	3 A (87) 1 At Sum	6 to sum	B. A.(Gr)	B.A. (G)	B.A. (G)	154 (G)	BA(G)	Stream .	
	2021-22	2021-22	2021-22	2021-22	2011-22	2021-22	2021-22	2021-22	2011-22	2021-22	2021-22	2021-22	2021-22	2021-22	2021-21	2021-22	1021-22	2021-22	Seasion	
	215	173	รัก	448	173	20	12	844	15	185	49	448	173	bq	448	173	448	173	Rote	
	P-14-03-22	Q-14.03-1022	at-12.3.602	ef-12-3-2012	Sto 12. 3.2022	QL 11.03.42	Rf-11.03,2022	Ap. 11.03.2022	Sp. 10.3.2002	Q- 10-3. 2022	Q-10.3.2112	Der 10.3. 2012	Q 10.03.42L	Q - 09-03:2012	Q- 09-03-422	Q 09.03- 1022	Q 08.03.412		Sign of the Anthristy Removes	



Santinagar, Palta, P.O.: Bengal Enamel, North 24 Parganas, Pin - 743122 (W.B.)
Phone: (033) 2592 1327, Fax: (033) 2592 1327, e-mail: pndc.principal11@gmail.com
Website: www.pndascollege.in

NAAC ACCREDITED - 2016

Ref.:	Date

Attendance Sheet

36.	35.	34.	S.	32	장	જુ	29	28	27	و. م	35	22) h	12	.6	ي و	19.	\$13
26.04.2012	25.04,2022	25.04.2012	25.04.2022	18.04/2022	18.04.2022	18.04.2022	18.04.2022	13.04.2022	13.04.2022	04.74.2022	04-04-8022	28.03.2027	2202.2012	24.03.2022	23.03.2022	14-03,2022	(4.05.2022	Date
S mb mayet Chukrachean	Arnalo Duy	Suchrajit Chakraborky	Praloy Chaumborfy	Siamonadeck Kommison	Prolay Christophy	Armab Duy	Subhanita Charmen	Intrant Duy	Suchrafit Charcalony Dusting &	Endrani Deg	Such raget charactery	Subwayet Contrabas	Smbani Packer	Subhrayet Charactersty	Submyst Chaumberry	Rowa Bisnoan	Subharajit candonbuty	Name
Brok avrangement of developing	Book Altrangement & durbing	Body arrangement & durking	Book antengenned & durating	is Book arrangment	Bosse weengement	Book wrongement	Book arrangement	Ducting a book arrangement	Dusting & book arrangement	Dusting, book accompanied a stamping	Ducting book assumponent a stamping Suchreif Chakhasity	Durting & book errangement	Durking a book orrangement	Dusting and book assentiament	Dusting and book as Emgeneent	Dusting and book or sangement	Dursting and base arrangement	Arica of Work
Subhrasily Chauracory	chtab Icy	Subhratit Chaptragery	Fredoy Chadowlordy.	Swarmodeep Karimakari	Broby Ona krubony and sum	Armab Dey	Subhratif Charleborts	Indrai Deg	Suchrasit Chartaborts	5 Topped 83	9 Subhrajit Chaktabarta	Subhiatit Characotty	Brobani Paikon	Subhrasiit Chalchaborts	Subhrasit Chauraborts	Rehist Bisson	Subbrajit Chaldadary	Signature
B. Cem (H	B. 64 (H)	B. CommCH)	B; com (u)	B. Com (A)	Dad Sum (#)	B. Com(H)	B.Com(#)	194(H)	B. Com (H)	8 4 (er)	B. Com(H)	2 nd Sem (+)	ms 15 3	2 md Sum	2nd Sem	2 nd Sum	Blom(#)	Stricam
B. Com (#) 2021-22	2021-22	2001-22	2021-21	2021-22	20-1-22	2021-22	2021-22	2021-22	2021-22	2021-22	2021-12	2.22-21	2021-21	2021-22	2021-21	2021-22	2021-22	Seasion
232	815	232	2	214	3	2/8	232	215	232	215	232	2392	173	232	232	448	252	₽=
Pr 25.54.2022	DF 24. 4.2022	cf:	1 1 1 1 1 1 1 1	G 18.04, 2022	Q 18.04.2022	St. 18.04.202	CF 18-04-2022	Q- 13.04 2022	Ch. 13.04.2025	Car. 04-4-2012	\$ 04.4.c23	Q 21.3.2012	Dr. 28.03.2022	Q- 24:03-222	Q= 23.3.201L	Q5 14.03.7022	Q-14-03-2022	Si) of the Androin Remarks



Santinagar, Palta, P.O.: Bengal Enamel, North 24 Parganas, Pin - 743122 (W.B.)
Phone: (033) 2592 1327, Fax: (033) 2592 1327, e-mail: pndc.principal11@gmail.com
Website: www.pndascollege.in

NAAC ACCREDITED - 2016

Ref.:	Date
20)	2400

Attendance Sheet

,		Arra of work	Signature	Skraw	2	0	
		and rate or open and A dusting.	Prolong Charlescherott.	ر) رسيس (۱۹)			000
				Beam (H)	9021-72	232	5
39 02.05.2022	1. Protory Chakrakosty	Best Arrangement & dusting	Proby Charlerenbourky	B.Com (#)	2021 - 21	13	Q- 02.05.2022
40 04.05.2012		Partic Arrangement & dusping	Subhrasif Chokhabamy	B. Com (I+)	204-12	232	Q- 04.05.22
41 04.05.2012	Froley ceak salegy	Brose Army work & diesting	Buly Chaloubout	B. Cem (H) 2nd Sem	2031-22	3	Str 04-05,2022
42 04.05.2021	- Svanznodcep Karmen	Book worrangement a dusting	Swarmadeep Karmakar,	Lord Sem	2021-12	214	Q- 04.05.2022
43 26.05.2012	Subhanjit ankadulan	Party attrangement & durking	· Subhratt Chapabarty	B. Com (H)	2021-22	132	Qu. 26.05,422
44. 96.05.422	Pastey Chukanbash	But arrangement a dunking	Exalty Charlow boardy.	1 and sem)	2021-22	9	A- 2.05.201
45. 26.05.2012	Aronalo Day	Bose volumes int & dusting	Arnob Day	Dean (#)	2021-22	2 8	Ch- 26.05.422
76 07.02.2022	Southerfit charactery	Book arrangement of disking	Sugarasit Chaupabotty	B. Carr (1) 2 71 Sem	2021-22	231	Str 04-06-2012
47 07.9.2022	Profesy Charlesbergy	Book wasangement & dusting	Psulay Orangenabouty.	B. Com (4)	2021 - 22	131	CT-07.56.202
48 09.66.2022	Postery averabedy	Bose transcent beenfung	Baloy Quelowbord.	3 - Lan (#)	2021-22	3	D- 09.06.2012
Moc. 20.60 64	Amithan Nata	Book Arrangement & dusting	Amistable North	B. Cam (*)	1021-22	180	Q 09.18.202
50 09.08,2027	Swammaded Kermaken	Book from gent brouseing	Swamadelp Karmakar	A. Com (H)	2021-22	214	Q 09.06.2002
51 10.06.2022	2 Subtragil Coulomber Ry	Book Arrangement & dusting	Subhrasit Chatchadorty	B, Com (H)	Fre- 1500	232	St 10.06.202
52 10.06.2012	2 Prajoy Chatrabul	Port oriengement & dusting	· Prolog Chaksobardy.	B, Com (H)	0-021-22	131	Di 10.08.2022
54 11.08.2012	5 Subrajit Considerating	Book sterangement & dusting	Subhratit Charrobery B. Com (+)	B.Com (H)	2021-22	232	P 11.08.2022
54 11.8.2022	roley charactery	Box avions	0	0			1



Santinagar, Palta, P.O.: Bengal Enamel, North 24 Parganas, Pin - 743122 (W.B.) Phone: (033) 2592 1327, Fax: (033) 2592 1327, e-mail: pndc.principal11@gmail.com Website: www.pndascollege.in

NAAC ACCREDITED - 2016

•

Allotment Distribution Sheet

To The Principal P. N. Das College Palta, 24 Pgs(N)

Sub: Library work under the scheme "Earn While You Learn"

Madam,

Our college library worked under the scheme "Earn While You Learn" from 08.03.2022 to 11.06.2022. They were arranging, stacking and dusting more than 5,000 books. Eleven (11) students of our college involved in this project. Number of days and allotment are distributed below:

SL No.	Name of the students	No. of days	Rate	Allotments	- 15
1 4	Srabani Paikar	6	Rs. 50.00	Rs. 300.00	Brabon Packar
2 🗸	Rohit Biswas	6	Rs. 50.00	Rs. 300.00	Rahil Bireras
3 ∨	Subha Mridha	3	Rs. 50.00	Rs. 150.00	John Wride
4 L	Suvronil Das	1	Rs. 50.00	Rs. 50.00	Livronil Das DiRika Bary
4 /	Dipika Sarkar	3	Rs. 50.00	Rs. 150.00	Dirika 302
5 ~	Indrani Dey	3	Rs. 50.00	Rs. 150.00	indial pro &
6 4	Subhrajit Chakraborty	15	Rs. 50.00	Rs. 750.00	subhratit charraborty
7 4	Arnab Dey	3	Rs. 50.00	Rs. 150.00	Armab Deg
8 V	 Praloy Chakraborty 	10	Rs. 50.00	Rs. 500.00	Braday Chakod
9 🗸	Amitabha Nath .	1	Rs. 50.00	Rs. 50.00	Amita H. Nath
10 🗸	/ Swarnadeep Karmakar	3	Rs. 50.00	Rs. 150.00	Amitably Nath Swarnadeep Karmakar,
	Total			Rs. 2700.00	Marin Salar

Please take necessary action for fulfilment of the scheme and do the needful.

Yours Sincerely

Prosenjit Pramaneck 08.03.2021 (Prosenjit Pramanick)

LIBRARIAN P.N. DAS COLLEGE Paite, North 24 Pgs.